

Krzysztof Ostaszewski <http://www.math.ilstu.edu/krzysio/>
 Author of the BTDT Manual for Course P/1
 available at <http://smartURL.it/krzysioP> or <http://smartURL.it/krzysioPe>
 Instructor for online Course P/1 seminar: <http://smartURL.it/onlineactuary>
 Exercise for October 22, 2005

You are given that the joint PDF of random variables X and Y is

$$f_{X,Y}(x,y) = x + y$$

for $0 < x < 1$, $0 < y < 1$, and 0 otherwise. Find $\text{Var}(X - Y)$.

- A. 1 B. $\frac{1}{2}$ C. $\frac{1}{3}$ D. $\frac{1}{4}$ E. $\frac{1}{6}$

Solution.

Note that

$$\int_0^1 \int_0^1 (x + y) dx dy = \int_0^1 \left(\frac{1}{2}x^2 + xy \right) \Big|_{x=0}^{x=1} dy = \int_0^1 \left(\frac{1}{2} + y \right) dy = \left(\frac{1}{2}y + \frac{1}{2}y^2 \right) \Big|_{y=0}^{y=1} = 1.$$

We have

$$f_X(x) = \int_0^1 (x + y) dy = \left(xy + \frac{1}{2}y^2 \right) \Big|_{y=0}^{y=1} = x + \frac{1}{2},$$

for $0 < x < 1$, and 0 otherwise. Because of symmetry, the PDF of Y is the same.

Therefore,

$$E(X) = \int_0^1 x \cdot \left(x + \frac{1}{2} \right) dx = \left(\frac{1}{3}x^3 + \frac{1}{4}x^2 \right) \Big|_{x=0}^{x=1} = \frac{1}{3} + \frac{1}{4} = \frac{4}{12} + \frac{3}{12} = \frac{7}{12},$$

$$E(Y) = E(X) = \frac{7}{12},$$

$$E(X^2) = \int_0^1 x^2 \cdot \left(x + \frac{1}{2} \right) dx = \left(\frac{1}{4}x^4 + \frac{1}{6}x^3 \right) \Big|_{x=0}^{x=1} = \frac{1}{4} + \frac{1}{6} = \frac{3}{12} + \frac{2}{12} = \frac{5}{12},$$

$$E(Y^2) = E(X^2) = \frac{5}{12},$$

and the expected value of XY is

$$\begin{aligned} E(XY) &= \int_0^1 \int_0^1 xy(x + y) dx dy = \int_0^1 \int_0^1 (x^2y + xy^2) dx dy = \int_0^1 \left(\frac{1}{3}x^3y + \frac{1}{2}x^2y^2 \right) \Big|_{x=0}^{x=1} dy = \\ &= \int_0^1 \left(\frac{1}{3}y + \frac{1}{2}y^2 \right) dy = \left(\frac{1}{6}y^2 + \frac{1}{6}y^3 \right) \Big|_{y=0}^{y=1} = \frac{1}{3}. \end{aligned}$$

This gives

$$\begin{aligned}\text{Var}(X - Y) &= \text{Var}(X) + \text{Var}(Y) - 2\text{Cov}(X, Y) = \\ &= \left(E(X^2) - (E(X))^2\right) + \left(E(Y^2) - (E(Y))^2\right) - 2 \cdot \left(E(XY) - (E(X)) \cdot (E(Y))\right) = \\ &= \left(\frac{5}{12} - \frac{49}{144}\right) + \left(\frac{5}{12} - \frac{49}{144}\right) - 2 \cdot \left(\frac{1}{3} - \frac{49}{144}\right) = \\ &= \left(\frac{60}{144} - \frac{49}{144}\right) + \left(\frac{60}{144} - \frac{49}{144}\right) - 2 \cdot \left(\frac{48}{144} - \frac{49}{144}\right) = \frac{24}{144} = \frac{1}{6}.\end{aligned}$$

Answer E.

© Copyright 2005 by Krzysztof Ostaszewski.

All rights reserved. Reproduction in whole or in part without express written permission from the author is strictly prohibited.